Substitution code
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To use this code, instead of writing out the letters that make up
the word, write the number that corresponds with the letter that you
were going to write

Translate the following word and message
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Write your name in code:




Riddle one

Substitution Code Riddles

231811120 13(15|14(20| 8 15| 6 201 8 | 5
25( 511118 8|11](19 28 4(1(25/19]| °?

28
Answer:
Riddle two
200 8 | 5 (18| 5 9 (19 1 15114| 5 19120|15(18|25
8 115121(19| 5 9 (14 23/ 81 93| 8
51221 5(18|25(20| 8 |9 (14| 7 9119 25| 5112(12(15(23
25( 5112(12|15(|23 231 1112(12|19]|, 25( 5112(12|15(|23
4 115{15|18(19{ , 25| 5112(12(15(23
6(21|18(14| 9 (20|21(18| 5 231811120
3(115/12(15|18 1|18 5 200 8|1 5 19120 1| 9 (18|19
Riddle three:
2511521 231 1112|111 9114(20(15 1 18(15(15|13
200 8 1 11|20 3(15114(20|1 1|9 (14|19 1 131 1(20( 3




1 11 19115|19| 5|14| 5 121 1 ]13|16] , 1
3(11]14 12| 5|, 1114 4 1 619|185 --
16112| 1 5 121 5|1 |20 4 115 25(15|21

121 9| 7 20 6|9 |18|19]|20| ? |Answer:

Riddle four

41122 41" 119 16| 1 (18| 5|14(20|19 811]22|5
20| 8|18 5 1915|1419 19114| 1 |16/ ,

3 (18| 1 11{12| 5| , 114 4 2318|120 9119
201 8|5 14|11 |13| 5 15| 6 201 8|5 201 81918
19(15|14 Answer:
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